
Installation Steps

Packaging List:

1   base plate

x1

Installation steps:

   

      

D.M5*50 

C

B.eccentric lock

A.eccentric lock lever

head

.part it ion nail    

screw

E.tapping screw   

F.M6*30 screw

H.M6*12 

G.M6*20 screw

screw

J.

I.8mm rotat ing handle    

wheel

K.Q clamp  
 

L.screwdriver   

x4

x4

x4

x12

x16

x6

x2

x4

x2

x4

x2

x1

Step 1:Fix the wheel【J】to the back of the 
base plate【1】 using screws【E】

Step 2:Use screws【D】to connect  the base 
plate 【1】 to the left  and right  panel 【2】
and【3】respect ively

4   back panel

x1

5  baffle 

x1

6   laminate

x1

7  desktop board 

x1

8  curved pipe

x1

9  part it ion plate 

x1

2   left  panel

x1

1

2

3

D

D

1
E

E

E

E
J

J

J

J

3   right  panel

x1

10   stop strip

x1

11  column square tube 

x2

Please read this installation manual carefully before installation. Pay attention to the screw size, 
sort out the accessories and count the quantity before installation.

https://manuals.plus/m/e02ad350b776ff5f3ed04ec546d6ad6f67730a05a6d37f2e4e01d1802b50efe9


6

A

B

A

    
     

     

 Step 3:Use screws【F】to connect the 

column square tube【11】to the base plate

【1】and the left and right panel【2】【3】

     
   4】and baffle 

Step 4:Connect the left and right plate【1】
plate

 

    
       
        

eccentric lock head【B】into the holes, and 

t ighten 

【2】to the back pane【
【5】using screws【D】

them

     
   
    

      
   

 

Step 7:Insert  the assembled part  into the 
square tube of the column square tube【11】
as a whole and fasten it  with the 

use screws【G】to pass through 【7】 to

rotat ing 
handle【I】. Insert             the part it ion nail

【C】into the                             holes on the 
left  and right                             panel,place 

part it ion plate                    【9】on the 
part it ion nail

Step 8:The overall installat ion is completed,  
please check whether all screws and accessories 
are t ightened

4

5

D

D

D

D

D

D

Step 6:Pass the Q clamp【K】through the 

curved pipe【8】,use screws【H】to

connect 【K】to the desktop board【7】,

F

Step 5:Screw the eccentric lock lever【A】
into the laminate, insert the assembled part  

into the left and right panel, place the

F

F

F

11
11

7

fix the stop strip【10】 8

10

G
H

K
A

B

7

9

C
I

I


